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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-4

BfE) | GEBERTIC (7)) | EBRE (EA/#K) | EREE (B/R) | X8 EFRF

08:25 206 130.0 28.08 FA| hHR@08:25 KREIZHF (RALESR)
09:15 206 130.0 28.08 BH| FhHR@09:15 KENF2F (KRHAHEREE)
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15:45 206 130.0 28.08 BH| FhHAe15:45 KEIEF (RAEREE)
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G3-4

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R
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G3-4_0, Day=19 (2025-05-31)
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TargetEC=1800. 0, | TargetSetEC=2100. 0 —>—  ECBx10%
2200 o ECC
_______________________ ;:;:;;/“ 2 2 ° AR B
2000
) Y = L
[ ) @
1800 +
q o ® [ ® o ® vl
10 1 TargetPH=6.5, TargetSetPH=6.5 —>—  PHB*10%
o PHC
8 -
6 | N~ N N N N N 7
1
— ByIniF @D20 01:36: ET=1375 Fg=1760.0 Ro=525.0 t
£ 200 1 ] - 2000
= 1
N l
< 1
:E/ : - 1000
5 |
1
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
~ FH BH A FH FH BH A FH FH BH [A FH FH 55 55 55 55 BH 55 55 55 [H [A FH
g 200 ] - 2000
= ByEt @D19 19:05: ET=705 Fg=697. 0 Ro=nan :
N
o 1
% 100 - : - 1000
. W 4. ==
1
0 | S — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
B 200 FH BH A FH FH BH A FH FH BH [A FH BH | X/ |/vm |/ | FA BH |v@m|/)@m|&B=| FA GHEES 2000
C 1 -
%_ ByWoFy @D20 01:36: ET=566 Fg=600.0 Ro=87.0
N
o 1
= 1004 i L 1000
5 | —e *-—o—9
1 L ——
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
08l M BH A FH FH BH A FH FH BH [A FH BH | X/ |/vm |/ | FA BH |v@m|/)@m|&B=| FA GHEES
0.6 -
0.4 1
0.2 A
| 4
| _obs
PPFD_obs

RH

607 @  RH obs
(] RHo_obs
e v P
1.5 -
1.0 -
0.5
I T T
0 2 4

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=395, FV0=0 m=435, FV0=0 m=515, FV0=0

—o— ME —e— ME 28.8 1 —8— ME
28.2 28.8
28.6
28.0 98, 6 4
28. 4
27.8 28,4
' 28.2
27.6
28. 2 280 -
27.4
28.0 - 27.8
T T T T T T T T T T T T T
400 600 800 1000 395 400 405 435 440 445 515 520 525
m=590,m FV0=0 m=675,m FV0=0 m=825,m FV0=0 m=970,m FV0=0
—o— ME —o— ME —e— ME —o— ME
29.5
29.5 A 29 5
29.5
29 0 _ 29 0 T
' 29.0
29.0
28.5 - 28.5 A
28.5
28.0 28.0 28.5
28.0
27.5 27.5 28.0 -
T T T T T T T T T T T T
675 680 685 825 830 835 970 975 980
m=395,m FV0=0 m=435,m FV0=0 m=515,m FV0=0
—&— MW | 280 —&— MW | 280- —o— MW
26. 8
26.6
27.5 27.5
26. 4
26.2 - 27.0 1 21.01
26.0 26.5
26.5
400 600 800 1000 395 400 405 435 440 445 515 520 525
m=590,m FV0=0 m=675,m FV0=0 m=825,m FV0=0 m=970,m FV0=0
28 0 - —o— mw | 27907 —— MW —— MW —— MW
97 95 28.0 28.0 -
27.5
27.00 97 5
27.5
27.0 26. 75 -
27.0 -
26. 50 - 27.0
26.5
26. 25 - 26. 5 1
590 595 600 675 680 685 825 830 835 970 975 980



hour

125
110
:50
:30
110
:50
:50
155
115

T

7
=
e

N

N
“%
%

o
-

]

§_

%

100

80

- 60

- 40



G3-4

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS R

06:35 92 70.0 15.12 FH| 1BRi&@06:35 Bzh (RAEREE)
07:25 92 70.0 15.12 FA| 1BRi&@07:25 Bzh (KRAB{ERESE)
08:30 92 70.0 15.12 FA| 1BRi%@08:30 BH3zh (FKA{EREE)
09:30 92 70.0 15.12 FA| 1B2i%@09:30 B3h (kA{EREEE)
10:25 92 70.0 15.12 FA| 1B2i%@10:25 B3h (RA{ERESE)
11:10 92 70.0 15.12 FA| {Ri&e@11:10 Bz CGRAEEE)
11:50 92 70.0 15.12 FA| {Ri%@11:50 Bz (GRAERE)
12:30 92 70.0 15.12 PH| {Ri%e@12:30 Bz (RAHEES)
13:10 92 70.0 15.12 FA| {Ri%@13:10 Bz (GRAEEE)
13:50 92 70.0 15.12 FA| {Ri%@13:50 Bz (GRAERE)
14:50 92 70.0 15.12 FA| 1B2i%@14:50 Bzh (RkABIEREE)
15:55 92 70.0 15.12 FA| {Ri%@15:55 Bz (GRAEREE)
17:15 92 70.0 15.12 FR| {Ri&@17:15 Bz CGRAEEREE)
23t[1196.0 (13%) 910.0 3ZHKEC: 2100.0, PH: 6.5

EREBATHC AR IRAREEIN (123 vs 108.0))
EXIASEPRIERE80. 0 ml.

REXFEBPH (10.35) 5i&%EPH (6.5) RERK, HFHRE
REXEEBPH (10.35) 5FMPH (6.5) REKKA, BFHRE
HEEIRECE (1877.0 vs 2987.0) RS

ERGEBIPH (10.4) 5i8EME (6.5 RERKK, BHRE.
ERGEBIPH (10.4) S5EREW (6.5 RERK, HRE.



FRV (ml plant-1)

G3-4_0, Day=18 (2025-05-30)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET 1050

60 - 94

40

20 -

108

~
(83}
1

1
o
1

N
(4]
1

1.
0.8 A
0.6
0.4+

0.2~

2908 1

2100

0

885 35
751

51

191
"FVO' ] missing

87 Warning: lcol ['FVI’,

|

- 1000

- 500

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=1800. 0, | TargetSetEC=2100. 0

2000 )(—‘—)(—‘—)(—)(—)(—)(—)(—)(—)(—)(—)(—)(

1900 1 >  ECB*10%

1800 A

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

[ ECC

°
hd €/ & 900000 ° & o —%—  PHB¥10%

10

[ ]
TargetPH=6.5, TargetSetPH=6.5

([ PHC

0

1

3

6

11

12 13

4 1500

- 1000

- 500

18

19

20

21 [ 22 | 23 | {s09

150

%=

ER

i

[

[

i

ES
5]

= E3
B B

E3
B

ES
5]

=
B

E3 E3 ES
B B 5]

100 -

50 -

ByEt @D18 16:08: ET=848 Fg=1100.0 Ro=nan

0

1

2

5

6

7

8

9

10

11

12 13

14

- 1000

- 500

19

21 [ 22 | 23 | {g09

150

%=

ER

%=

A

FA

A

A

A

FA

A

FH | PA

FA

A

EXNEX I

100 -

a1
o
1

9 14— —¢—
1.0

ByWoF

]
v @20 01:36: ET=835 F

£=910.0 Ro=130.0

/ﬁ\/fl//

10

11

12 13

- 1000

- 500

14

15

18

19

21 22 23

0.8

A

FA

A

A

A

FA

A

FH | PA

FA

A

A

FA

A

XN EX I

0.6

0.4+

0.2~

0.0

1000 ~

500 A

—_—
[ ] | _obs
—@— PPFD obs

80

60

RH
RH_obs
RHo_obs

e vpD P

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=395, FV0=0 m=435, FV0=0 m=515, FV0=0

—— ME —— ME
27. 4 - 28. 2 - 28.0 -
97 9 28.0 27.8 -
27.8 27.6 -
27.0
27.6 27. 4 1
26. 8 -
° M_E 27. 4 27.2 1
T T T T T T T T T T T T T
400 600 800 1000 395 400 405 435 440 445 515 520 525
m=575,m FV0=0 m=640,m FV0=0 m=690,m FV0=0 m=725,m FV0=0
29.0 o ME 29.0 - o ME o ME 29.0 - o M_E
28.5 -
28.5 28.5 28.5
4 28.0
28.0 28.0 28.0 -
4 27.5 -
27.5 - 27.5 27.5 -
T T T T T T T T T T T T
575 580 585 640 645 650 690 695 700 725 730 735
m=760,m FV0=0 m=795,m FV0=0 m=825,m FV0=0 m=865,m FV0=0
29.0
28.5 - 28.5
28.5 -
28.5 -
28.0 98,0 4
28.0
28.0 -
27.5 -
27.5 -
27.5
760 765 770 795 800 805 825 830 835 865 870 875
m=915,m FV0=0 m=965,m FV0=0 m=1025m FV0=0 m
29. 25 |
—-o— ME —o— ME —&— ME
29.0 29. 00
29.0 -
28.75
28.5 |
98,5 - 28. 50
28. 25
28.0
28.0 - 28. 00 A
27.75 1 —o— MW
915 920 925 965 970 975 1025 1030 1035 600 800 1000




26.

26.

25.

25.

25.

25.

27.0 A

26. 5

26. 0 -

27.

27.

26.

26.

26.

26.

27.

217.

27.

26.

26.

26.

m=395, FV0=0

25 A

00 ~

75 1

50 A

25 A

00 ~

—— MW

460 465
m=640,n FV0=0

—— MW

6&5 6%0
m=795,n FV0=0

25 -

00 ~

75

50 -

25 A

00 ~

—— MW

860 865
m=965,n FV0=0

50 -

25 A

00 ~

75 -

50 -

25 A

-0 MW

?

970 975

27.

217.

26.

26.

27.

26.

26.

27.

27.

26.

26.

26.

26.

27.

27.

217.

27.

26.

26.

26.

m=435, FV0=0
57 —— MW
0 .
5 -
0 -
T T T
435 440 445
m=690,m FV0=0
—— MW
0 -
5 -
0 -
T T T
690 695 700
m=825,m FV0=0
25 4 —— MW
00 4
75 1
50 4
25 4
00 4
825 830 835
m=1025m FVO0=0
75 1
—— MW
50 4
25
00 4
75 4
50 4
25 4
1025 1030 1035

27.

26.

26.

26.

26.

26.

26.

26.

25.

27.

27.

27.

26.

26.

26.

26.

m=515, FV0=0

—0—

MW

515

5é0 5é5
m=725,n FV0=0

—0—

M_W

725

750 7&5
m=865,n FV0=0

50 A

25 -

00 A

75

50 -

25 A

00 -

—0—

M_W

865

870 875

27.

27.

26.

26.

26.

26.

26.

26.

25.

27. 50 A

27.25 A

27.00 A

26. 75 A

26. 50

26. 25 A

26. 00

m=573, FV0=0

—— MW

575 5é0 5é5
m=760,n FV0=0

—— MW

760 7é5 7;0
m=915,n FV0=0

—— MW

915 920 925



hour

10:
11:
11:
12:
13:
13:
14:
14:
15:
15:
16:
16:
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G3-4

BYiE) | GEBATK (RY) | EHRE (EAH/K) | ERERE (B/R) | XS R

06:10 91 60.0 12. 96 = RRiB006:10 Bz (RAKEE)
06:40 91 60. 0 12. 96 E[ BRi&e06:40 Bz (RFA{EREIEE
07:30 91 60.0 12. 96 F  BRi1%e07:30 Ba1 (GRAERSE)
08:20 91 60.0 12.96 = {RRiB008:20 Bz (RFAREE)
09:00 91 60.0 12.96 & =| 1Ri%@09:00 Bz (RABHEREE)
09:35 91 60.0 12.96 (Z=| 1BRi&e09:35 Bzh (REAERSE)
10:05 91 60.0 12.96 | =| 1Ri%e10:05 Bz (kAEREE)
10:40 91 60.0 12.96 | =| 1Ri%010:40 Bzh (GRAHEREE)
11:10 91 60.0 12.96 | =| 1Rige11:10 B3h (GRAHERESE)
11:45 91 60.0 12.96 |2 =| 1BRige11:45 Bz (GkAEREE)
12:25 91 60.0 12.96 | =| Rige12:25 Bz (GRAERE)
13:00 91 60.0 12.96 5| 1Rik@13:00 B (KREAERES)
13:30 91 60.0 12.96 = RRiB013:30 B (RFAKESE)
14:00 91 60. 0 12. 96 E| {Rig014:00 B3h (GRE{ERSE)
14:30 91 60.0 12.96 5| {Ri%e14:30 B3 (GRAERSE)
15:00 91 60.0 12.96 =l RRiB@15:00 B (RFAEESE)
15:30 91 60.0 12. 96 = RRiB015:30 Bz (REAKEE)
16:05 91 60.0 12.96 (& =| 1BRiBe16:05 Bzh (REEREE)
16:50 91 60.0 12.96 (Z=| 1BRi&e16:50 Bzh (REAERESE)
2it]1729.0 (190%) 1140.0 3ZHKEC: 2100.0, PH: 6.5

RERERIPH (10.28) 5i8EPH (6.5) IREW K, BT
FERERIPH (10.28) 5FPH (6.5 REKK, FHE
#[EKECE (1938.0 vs 3305.0) 15
LORGEBIPH (10.4) 5i1&EE (6.5) wERK, BRE.

LORGEBIPH (10.4) S5#AE (6.5) REHKK, BHRE.




G3-4_0, Day=17 (2025-05-29)

R e e T T TP r PPy
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1039
885 91 - 1000

401680, BTt 750
19 - 500
20 A
. . - 250
29 Warning: lcol ['FVI',| "FVO'] missing 87
88 3 = -0
( —t— 4
- v ME B
1, 60 + FRV e g =m | m o  m m g = = o = @' maxM |
C
©
- Ll
240 - - 28 _
£
N 1 SRR———
o | I | i | I . I 0N NN RN L 96
1.0 IJ
"
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0 e o o A
2000 1 “TargetEC=1800. 07 rTargetSetECs vV Y Y YRV RV R B R
1500
—>é— ECB*10%
10001 @  ECC
[ )
e © ® o 0 o0 o e o
104 TargetPH=6.5, TargetSetPH=6.5 © ®e0 0 ° > PHB*10%
o PHC
8 -
_ ¢ 1500
-
C
.S
<2 - 1000
<
>
= L 500
o
0 . E 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES B 1500
E 150 B B B G B B B G B B B G B B B G B B B : G B B B G
%_ ByEt @D17 19:09: ET=821 Fg=900.0 Ro=nan
~ - 1000
100 -
>
= 50 A - 500
o
0

07 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

T I I N A A R E R EA A A I S G G R R G R RS
< 1
= ByWoFV @D20 01:36: ET=1035 Fg=1140.0 Ro=152.0
= 100 - : J— < - 1000
< I
% I /
50 - : Z = mom | 500
[
Ll 1

\\

1.01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8

0.6

0.4+

0.2~

—_—
[ ] | _obs
—@— PPFD obs

RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=395, FV0=0 m=440, FV0=0 m=520, FV0=0

27.2 1 o M_E 28.0 - M_E - M_E
27.8 - 28. 5 A
27.0 A
27.6 28. 0 A
26. 8
27. 4 1
27.5 1
26. 6 27 2 4
27.0 A
T T T T T T T T T T T T T
400 600 800 1000 395 400 405 440 445 450 520 525 530
m=575,m FV0=0 m=620,m FV0=0 m=665,m FV0=0 m=710,m FV0=0
-@— ME 28.5 -&— ME -@— ME 28.5 -@— ME
28.5 1
28.5 -
28.0 A 28. 0 - 28.0 A
28.0 -
27.5 A 27.5 4 27.5 A
27.5
27.0 27.0 27.0
27.0 A
T T T T T T T T T T T T
575 580 585 620 625 630 665 670 675 710 715 720
m=760,m FV0=0 m=805,m FV0=0 m=840,m FV0=0 m=870,m FV0=0
-@— ME -@— ME -@— ME —-@— ME
28.5 1
28.0 + 28.0 A 28.0 4
28.0 A
27.5 1 27.5 1 27 5 -
27.5 A
27.0 A 27.0 A
27.0 A
27.0
760 765 770 805 810 815 840 845 850 870 875 880
m=905,m FV0=0 m=940,m FV0=0 m=975,m FV0=0 m=1015m FVO0=0
—&— ME —— ME —&— ME —0— ME
28.5 28.5 A
28.5
28.5 1
28.0 28. 0 A
28.0
28.0 A
27.5 927 5 A
27.5 1
27.5 A
27.0
905 910 915 940 945 950 975 980 985 1015 1020 1025



T
600

860
m=575,n FV0=0

T
1000

26. 0 -

25.5

25.0

24.5

—-— MW

580
m=760,n FV0=0

T
585

25.75 A

25. 50 A

25. 25 A

25. 00 A

24.75

24.50

—— MW

765
m=905,n FV0=0

770

26. 2

26.0

25. 8

25.6 -

25. 4

25. 2 -

i
?
i
?

-— MW

910

915

24.

24.

24.

24,

23.

23.

26.

25.

25.

25.

25.

24,

25.

25.

25.

25.

24.

24.

26. 4

26. 2

26.0

25. 8 -

25.6

25. 4 -

m=395, FV0=0

75 -

50

25 A

00 -

75 A

50

—o— MW

460 465
m=620,n FV0=0

00 -

75 -

50

25 A

00 -

75 A

—— MW

Gé5 650
m=805,n FV0=0

75 A

50 A

25 A

00 -

75 -

50 -

—— MW

805

8%0 8%5
m=940,n FV0=0

- MW

940

945 950

m=440, FV0=0

26.0

25.5

25.0

24.5

26.

25.

25.

25.

25.

24.

26.

25.

25.

25.

25.

24.

—— MW

445 450
m=665,m FV0=0

440

00 ~

75

50 -

25 A

00 ~

75

—o— MW

?
e

6;0 6%5
m=840,n FV0=0

00 ~

75

50 A

25 A

00 -

75 -

—o— MW

8&5 850
m=975,n FV0=0

840

26. 6

26. 4

26. 2

26.0 -

25. 8

25.6 -

-— MW

975 980 985

26.0

25.5 A

25.0 A

24.5 -

26.

25.

25.

25.

25.

24,

26.

26.

25.

25.

25.

25.

26.

26.

26.

26.

25.

00 -

75 A

50 -

25

00 -

75 A

25 A

00 -

75 A

90

25 -

00 -

75 A

50

25 -

00 -

75 -

m=520, FV0=0

—— MW

555 550
m=710,n FV0=0

—0— MW

7%5 7&0
m=870,n FV0=0

—-— MW

8%5 8é0
m=1015m FV0=0

870

- MW

1015 1020 1025



hour

120

:20

120

120
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120
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G3-4 BrE) | GEBATK () | ERE(EH/R) | EREE (F/R) [ XS R

05:55 88 50.0 10. 8 = B218@05:55 Bz (FREERSE)
06:25 88 50. 0 10.8 & ’Ri%006:25 Bz (RAERESE)
06:55 88 50. 0 10.8 & B31%@06:55 Bzh (REERESE)
07:30 88 50. 0 10.8 & BRi&@07:30 Bz (RF{EREIEE

08:15 88 50.0 10.8 5 i1%@08:15 BH3zh (KRFEEREE)
08:50 88 50.0 10.8 & B31%@08:50 Bzh (KAL)
09:20 88 50. 0 10.8 & ’Ri%@09:20 Bz (KRAERESE)
09:50 88 50.0 10.8 5 B318@09:50 B3zh (KRFERSE)
10:20 88 50. 0 10.8 5 BRi8@10:20 Bzh (KREERESE)
10:50 88 50. 0 10.8 & ’Ri%@10:50 Bzh (RAERESE)
11:20 88 50.0 10. 8 = Bige11:20 Bz (RBHERSE)
11:50 88 50. 0 10.8 5 Bige11:50 Bz (REERSE)
12:20 88 50. 0 10.8 & Ri%e12:20 Bz (GRAERSE)
12:50 88 50.0 10. 8 = BRige@12:50 Bzl (REERES)
13:20 88 50.0 10.8 5 Bi%@13:20 Bzh (kAEREE)
13:50 88 50. 0 10.8 & ’Ri%e13:50 Bz (GRAERESE)
14:20 88 50.0 10.8 5 BRige@14:20 Bzh (REERESE)
14:50 88 50.0 10.8 5 Bi%@14:50 Bzh (kBHEREE)
15:20 88 50.0 10.8 & Brig@15:20 Bzh (RBERESE)
15:50 88 50. 0 10.8 & BRi%@15:50 Bz (GRAAEREE)
16:20 88 50.0 10.8 5 i18@16:20 B3h (KREERKSE)
16:50 88 50. 0 10. 8 B F#iT016:50 Bzl (GRAEREE)
17:20 88 50. 0 10.8 & Ri%e17:20 Bzh (RAERESE)
24t 2024.0 (23)%) 1150.0 EWGHKEC: 2100.0, PH: 6.5

EIREBRTHCRIZIREI Y (88 vs 75.0))
EXIASEPRIEBES9. 0 ml.

REXFEBPH (10.34) 5i&%EPH (6.5) RERK, FHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE
HEEKRECE (1990. 0 vs 3375.0) 35

ERGEBIPH (10.2) 5iREME (6.5 RERKK, BHRE.
ERGEBIPH (10.2) S5ERIEW (6.5 RERK, HRE.
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